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1. Study the map extract of Tamarin (Mauritius) and answer the questions
that follow.

(@) (i) What is the Representative Fraction Scale of the map?

................................................................................................ [1]
(i) What class of road is the Riviere Noire road?
................................................................................................ [1]
(iii) Give the height of the summit in square 8988.
................................................................................................ [1]
(b) (i) Whatis the general direction of flow of the River du Rempart?

................................................................................................ [1]
(i) Measure the whole circle bearing of the trigonometrical station

at 8983 from the Trigonometrical station at 8781.

.................................................................................................. [1]
(iii) What is the six figure grid reference of the Water Tank in the South

Western part of the Map Below Grand Riviere Noire river?

................................................................................................. [1]
(iv) Measure the distance in metres along the Private road from its

junction in square 8786 to Its junction with the road to Magenta

dam in square 8986.

................................................................................................ [1]
(v) The height of the road junction at 8786 is 55 metres above

sea-level and the height of the junction at 8986 is 110 metres

above sea-level. Calculate the gradient between the two junctions.

................................................................................................ [2]

O©OECESWA 572/02/0/N/2019 [Turn over

For
Examiners
Use



For

3 .
Examiners

Use

(c) (i) State any three facilities found in the town of Tamarin.

(if) Give two reasons why the South Eastern part of the map extract is
without settlements.

(iif) What is the main land use in the Northern and part of the central part
of the map?

[Total: 15 Marks]
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(b)

(c)

(d)

(e)
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What is the first step involved when one has to conduct a research?

[Total: 5 Marks]
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3. (a) Study Figure. 1, which shows an eclipse.

Figure. 1

(i) Name the type of eclipse shown in Figure. 1.

................................................................................................ [1]
(i) ldentify the heavenly body marked X in Figure. 1.
................................................................................................ [1]
(i) Name the phase of the moon in which the eclipse shown in Figure. 1
occurs.
................................................................................................ [1]
(iv) Using Figure. 1, describe how the eclipse occurs.
................................................................................................ [2]
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(b) Study Fig. 2 which shows certain types of landforms.

(i)

(i1)

(iii)
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Figure. 2

What movement within the earth’s crust has resulted in the
formation of the landforms shown as A and B in Figure. 2.

........................................................................................... [1]
Name the landforms marked A and B in Figure. 2.

A e
B e [2]
Using Figure. 2 describe how the landforms shown as A and B

have been formed.
.............................................................................................. [2]

[Total: 10 Marks]
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4. (a) Study Figure 3 below which shows four possible sites A, B, C and D for the
location of a new farming village.

possible site
for village

rivers and
streams

* % dense forest

swamp

hilly area with
thin soil

grassland with

deep soil
0 km 1
L
Figure. 3
(i)  Which is the best site for the location of the village?
.......................................................................................... [1]
(i) Give two reasons for the site you have chosen.
O
2 [2]
(i) State, giving a different reason for each site why you rejected any
two of the other sites.
Site reason fOr reJECHION ...
Site reason fOr reJECHION ... e
........................................................................................... [2]
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Study Figure 4 which is an extract about the population of Eswatini.

Swaziland is a small country in Southern Africa with a total area of
17363 kmz, occupied by about 1, 200 000 inhabitants. As an LEDC it
has a high birth rate attributed to lack of family planning, desire for
boys, proof of men’s virility and teenage pregnancies among others.
This has resulted to overpopulation, a situation whereby the resources
exceed the population. This has led to unemployment, shortage of
social services, diseases, high crime rate. On the contrary MEDCs

have a low birth rate as there is improved women status, education

and high living standard.

(i)

(i1)

(iii)

(iv)

Figure. 4

Using Figure. 4, define overpopulation.

.............................................................................................. [1]
Using Figure. 4, state two reasons why Swaziland has a high birth
rate.
L o
2 e [2]
Using Figure. 4, give one reasons why MEDCs have achieved a
reduction in birth rates.
.............................................................................................. [1]
Using Figure. 4, calculate the population density of Swaziland.

............................................... [1]

[Total: 10 Marks]
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